=.-£ ?;PTETERE Conversion

Name - Starttime- __: E..utane

Convert to the units shown:

1 54m= cm LT, 5000 cm = m
& 69m= cm 1z. 4000 mm = m
3. 53cm = mm 13. ~000 cm = m
L 47 m = mm 14. 9000 cm = m
5 44 cm = mm 15. | 10CO mm = cm
b. 50m= cm lo. | 5000 mm - cm
i 63 m= mm 1.. | 80COmm - cm
® 20m= m 18. 2000 mm = m
2 2 lcm = mm 19. 6000 cm = m
10. 45 m = cm 20. | 2000 mm = cm

CHALLENGE} Josh is building a fence around the farm. The total

length of the fence s 48 m. If he can finish building 8 m of fence in a

day, how lung will it take him to finish the 1ence?
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